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Match the following

(S0l e2édzitochain

A

D.

Options :

List-1I
Sd -1

Specimens L
£5 Sdeaeen

Indian Botanical garden II.

mofoie SPerdss W—‘QE

Manuals I11.
Smaysa

o o
Monographs IV.
Byt

A-II. B-1. C-IV, D-IIL

1. ®

A-III, B-1, C-IV, D-II

A-1I. B-1. C-1III, D-IV

A-Il, B-1II, C-I, D-IV

Question Number : 2 Question Id : 6404119762 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes

Correct Marks : 1 Wrong Marks : 0

List - IT
S - 11

Names of species in an area

2.8 [HB408%0 avdbe 1Y

o
ol

Preservative solution

= Y & I o
Dend Hod ([Eressin

Howrah

o

Information of one taxon

2.5 ‘ét},‘:l‘-’:é P06y H5roetio

.
TR

8530



Assertion (A) :  Whittakar proposed a five kingdom classification based on
many criteria.

Do (A) . o3 Soren ([FEENeEmE LB 2t T aﬁéﬁém
DE&eEdoT.

Reason (R) : This is due to the understanding of the different scientists
differently over time.

=80 (R) . A08 =¥ren DS @@ogu OSMTS, Teod & Srddr

yotitio Pod.
Identify the correct option from the following
BoB >&&° B8 2= ook
Options :
Both (A) and (R) are true, and (R) 1s correct explanation of (A)
L (A) Sodcsoe (R) Qzo, (A) & (R) 588 O58¢es

Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(A) $58a% (R) R0, (A) 8 RIBE 95580 ==&
2. %
(A) 1s true, but (R) 1s false
. (A) Rezo, =R (R) Qzo =0
3.
(A) 1s false, but (R) 1s true

(A) Razo =%, =0 (R) D=0
4. %

Question Number : 3 Question Id : 6404119763 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the following

|Bo& amayped® H0abhdD rhbohan

—

L. Krishi Parasaram describes different types of forests.
%é“l DoEG0 Hoth A Gere eise Krd) DHB0SLHSE.

II.  Hieroglyphics are related to the crop plants in the form of pictures.
26 Inge HBod Sdrwrdo rFRHES dEre Sros® §

1. Jatrpopha and pongamia are rich m hydrocarbons.
23(éS%, EPrPavaie S0th FRETS Sy JEPHMT GOoLroD.

IV. C.GK. Ramamyan studied the crystalization of enzyme urease.

C.GK. om0 oordibE JoBSmD & 58850 0T 58S 55en Saed.

Options :
LI

I, IV

I, IV
4.%

Question Number : 4 Question Id : 6404119764 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes

Correct Marks : 1 Wrong Marks : 0



Match the following

|80 &Y exdiiehain

List-1I List - II
S35 -1 S35 -1

A.  Tracheophytic cryptogames L Pteridophyte
orfise Smeroding ol dngen 8683er

B. Reflexed margin of fertile leaflet  II. Angiosperms

Srn85 Hoha) Peoddd) D@8 S Deexn
Gog) w0

C. Vessels and companion III. False mdusium
cells are absent iy vosERaho

EorrErer snboin HirSerel S0k

D.  Non Archegomate, embryophytes IV. Gymnosperms
@é&%‘dﬁco 82 Hoko S Fogen DS Derer
Options :
A-I. B-ITI. C-IV. D-II
1. ¢

A-I. B-IV, C-III. D-II
2. %

A-IV, B-1. C-II, D-III

A-IV, B-I, C-III. D-II

4, %

Question Number : 5 Question Id : 6404119765 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the following
BoBTEAE® HBEH amgen HBOSE®

2l

I Suckers are underground stems growing horizontally beneath the soil
and become aerial.

DesToHen grdn ke SSrodtorr oA SHhard srahurigo wdy
ﬁ,ﬂﬁtﬁa\}@omea.

II. The function of petiole is to attach leaf to stem.
D(@spodsin HEren sPorEls wdBSaterds ﬁstﬁuj.dﬁﬁj.

III.  Alstonia shows opposite phyllotaxy.
SSTEIOHE wfBne HFP DB GOLOd.

IV.  In Pisum termunal leaflets form as tendril.
256" eo|iS5|seen OB Sethara.

Options :

Tand IV
1.

IT and T1T

I and ITT
3. %

IT and IV

Question Number : 6 Question Id : 6404119766 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct sequence of fruits with the following characters

Bod oo ad Herd S8EI (E5E HooHEn

A) Multicarpellary syncarpous. unilocular ovary with stony pericarp
ety Soong Fotisre, of do womrdabo, 2oH Hod HOESS508°

B) Fruit with fleshy thalamus and developed by inferior ovary

ot Darwno 58 iy worrdaio o) JBGBS Peren

C) Apocarpous gynoecium develops mnto fruitlets
oHo0ng Podeen Su wosE do Dod 2GES Dderen
Options :
Cashew. Annona. Apple

. L835r58, berdeo, ehd
1.



Annona. Apple. Cashew
5 % Sarpeo, ebd, d85rSré

Cashew. Apple. Annona
3 & Eéc‘:}.-wﬁ]na @m("_lj_ -:\_.F_ﬁ': JEI0

Apple. Cashew. Annona

4 x 86, E55rErs, dErgoo

Question Number : 7 Question Id : 6404119767 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements from the following

|Bob aeQE° HEEHS raned HBoSHS

I Zygote 1s the vital link for continuity of species.
SrdTreniT a8 o sniiiss mC'I:fuJéu_&‘ﬂD (ES AL ER VAT A
II. In waterplants the number of male gametes produced are several times

more than number of female gametes.
58 mécaéﬁ |£: Sod@rr Derwgod 200 SoGrrderen w3 61 ruO“ “-‘"“’:
DEYRTP B EeEron.

IIT. Meiosis can occur in haploid organism.
&é%e‘i&é 5ot Soh8tes Sgfes) estibeod.

IV.  Adventitious buds are developed on leaf margins of Brvophviium.
(DTFEHDS’ D8 wohe 56 eanBs) Snifen ajseEron.

Options :

LI, IV
1.¥

ILIV. IO
2. %

IIIIT. T

0oL Iv

Question Number : 8 Question Id : 6404119768 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes

Correct Marks : 1 Wrong Marks : 0



Identify the correct sequence to the following statements
(8ol apres SOEH ([Eeheinid HBoen

A) Seeds are attached to the fruts
P DEre o8 Gothe
B) Free nuclear endosperm
fazafr\ o558 ®0%5:d Syso
C) G’lEl&f: family u}tyledon
G a8 wé"fblﬁe ALSTALZENY
Options :
Cocomut. Scutellum. Hilum

8, SmBea, JHTed

Hilum. Scutellum. Tegmen

DTS, TP, w088 Hesso

Scutellum. Cashew, Cocomut
3 % auw, éaéﬁf'g])ﬁ g‘"ch,_;“
Hilum. Cocomut. Scutellum

efrt, Fepd, Srdesn
4. )

Question Number : 9 Question Id : 6404119769 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes

Correct Marks : 1 Wrong Marks : 0

Match the following

List-I List-1I
260 -1 265 - 11
A) Bemry I) Indian Rose wood
Sytheo m08a0S %8 HE
B) Medicine 1) Allium
shoth TnE) esf)aDan)
C) Spice III) Selanum
orfog (Hargen FPerden)
D) Timber IV) Ashwagandha
2o &0

Options :



A-TIL B-IV, C-II, D-1
1.¥

A-I, B-I, C-IV, D-II

2. %

A-TV. B-II. C-1. D-III
3. %

A-III. B-I. C-II, D-IV
4. %

Question Number : 10 Question Id : 6404119770 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : In plant vacuole. the concentration is higher than the
cytoplasm.

A&Fo (A) ;g DESE® Swn(hod® $1) 8 mEE wotnod.

Reason (R) :  Tonoplast facilitates the transport of ions and other

materials agamnst concentration gradient.
s=85:0 (R) :  BAE Y w8 ocirSed T8 e (HSnEes Eﬁéméé fES
BASET8 Sareee ToHROE.
Identify the correct option from the following
Bob T&E° GBS wYseY HBoSos
Options :
(A) and (R) are true. (R) is correct explanation for (A)

(A) S0 (R) 5959, (A) & R) 585 256w
1LV

(A) and (R) are true. But (R) is not correct explanation for (A)
5 % (A) 06050 (R) {5852, (A) 8 (R) {985 258 =oth

(A) is true, but (R) is false

, x (A)D36, 0 (R)S086 =
(A) is false. but (R) 1s true

. (A)ps6 s, 59 (R) £856

Question Number : 11 Question Id : 6404119771 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Study the following table and identify the correct combination

£ s =L
£ (S0l =& sgiabdo dh S0 sond fdodeid Hdodhsn

S.No. List - 1

.30, $63 -1
L Stroma of the

Chloroplast
568 BeanHStD
2308

II. Chromoplasts
el ARy

L. Chloroplast

5206 Deavaden

IV. Microbodies
g @éﬁm
Options :
L% 110
II. IIT
2. %
v I, IV
BLE
4. %

Question Number : 12 Question Id : 6404119772 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Assertion (A)
04\&E5m (A)

Circular. double
stranded DNA
JOATPSE, oK
fdaing DNA

Carotenoid pigments

Grana Thylakoids
DO TedIeD
Gl}-'oxysomes

A e EL

ﬂ@j &0

1)

List - III
365 - IO

80 S Ribosomes

80 S B&&ESen

Water soluble

360 Serharon

Stroma lamellae

pe

233305° DedSen

Peroxisomes

=2, e
FyleL éﬁ;?’ﬁ VDY)

Lipids are not true Biomacromolecules.

DHGen Qasgdhid &5 mg&’rﬁﬂea::@@a =5

Reason (R)
=8sw (R)

The molecular weight of lipids 1s less than 800 Daltons.
D&8en oo 800 EE5@ Eom $585 dotwod.

Identify the correct option from the following
208 &’ 288 2i)=R) Hiotok



Options :
Both (A) and (R) are correct, R is correct explanation for (A)
(A) 580%(R) Qz20. (A) 8 (R) 58K D58

Both (A) and (R) are correct, (R) 1s not correct explanation for (A)
(A) 0805 (R) dzo. (A) & (R) 8588 D58z

(A) 1s true. but (R) 1s false
(A) Qezo ==Q, (R) Qa0 ==&

3. %
(A) 1s false but (R) 1s true
(A) Qezo ==, ==0 (R) Qa0
4. %

Question Number : 13 Question Id : 6404119773 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Arrange the following events that occur during prophase- I of Meiosis - I
gohste Dgfesd - 16° (56 64 -1 6° 200 womeid Jbwand (Esing® esitnmn

A)  Formation of synaptonemal complex
RTEEAS [o8Hn DB
B)  Repulsion between Homologous chromosomes
Sderdab (S ardtHe S H58m
()  Formation of Bivalents
BaiBotden T he
D) Exchange of Genetic material between non-sister chromatids of
Homologous chromosomes
Serdoh (P ArrHed® V088 B5r88s 5 STy SrB)G
E) Terminalization
w08 YL

The correct sequence is
0_-'5 uOLm t‘:’ Eﬁ.u
Options :

C.A.D.B.E
1.

D.ACB.E



AD BCE

3. %

DA B CE

Question Number : 14 Question Id : 6404119774 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the tissues in correct sequence based on the given characters

& (Boh ofmre wprdorr Snerere HSHR(Eshan MGodhan

A)  Cell walls are thickend with cellulose. hemicellulose and pectin.

geasioren DeRd’s, TraRens s, 1*352)@ Shodore Joerow.

B)  Cellolose walls Polygonal and perform photosynthesis.
Jaé':'& SeasSS5m exioghe ssedos® o 8be, 22y Nodrri|g 0% SirshEron.

C)  Thickened and lignified cell walls with pits.
fgen 893 e JG)8 Hotsghd SessSSm
Options :
Parenchyma. Sclerenchyma. Sclerides

L% sy chiseresin, hEsmeredn, HESere

Sclerides. Sclerenchyma. Parenchyma
) % ChESeren, (HESnerosi, HYHSeresin

Collenchyma. Parenchyma. Sclerenchyma
v Fﬁj;&:éaeaéaaa?ra:& S thseserwsin, ()ESmerean

Sclerenchyma. Parenchyma. Sclerides

NSSeeereain, apthdcseresin, thissren
) 2) )
4 %

Question Number : 15 Question Id : 6404119775 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the mcorrect statement among the following

Bod RS B0 gy rhBohan

Options :



Parenchymatous cells usually present in cortex and pericycle of monocot
stem.

2865¢ Des srotiod® Frrdmorr Hupwo, HOEES SyhEmren eotron.

1. ¢
Closed vascular bundles can not form secondary tissues.
SRS TrPsEoEren HoP Sl HE s,

2. % '

Vessels are devoid of protoplasm and are connected with perforations.

3 % OOTE Swrod” £ Dergo S0, Solgre TRoe Sul 60EroD.

Xylem conducts water and nuneral from root to shoots

ey B0 Hod sorrdd B, pered JEHoe THod.
4. %

Question Number : 16 Question Id : 6404119776 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following :

[Sob B e2edithain

List- I List - IT
Sthd -1 St - 11
A.  Polyarch xylem I. Bulliform cells
2R Tiiso endaran Seamen
B Colourless cells in epidermis II. Cotk cells
PGS ersTitSeaen BotBeren
C. Ring arrangement of vascular bundles III. Monocot root
SeocsEssor TEse Mosmen DESE Dadt
D.  Suberin deposition on cell wall IV. Dicot stem
Sesddos® Sradbd Jgaren ANALRASs Jolat )
Options :
A-TV. B-III. C-1. D-II
1. ®
A-III. B-II. C-1. D-IV
2. %

A-III, B-I, C-IV, D-II
3.¢



A-TIT. B-IV. C-I. D-II

Question Number : 17 Question Id : 6404119777 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Name the plants in which water is stored m the form of mucilage in root. stem
and leaves respectively

& (808 ad)® 2 InHed® D @b GrHos® I soiEn HbcH HEred® StHm
DohatHEod

mee
Options :
Asparagus, Opuntia and Aloe

SR, QTR AT S0@odd
.

Opuntia, Aloe and Casuarina

5 % (g2sTyEa30tD), Sweod Hbain sPerBar

Opuntia, Calotropis and Aloe
3 % (@FESNG, 205 5B Swods

Asparagus, Aloe and Calotropis
4 x BYTNR, Soaod HOCH EBH

Question Number : 18 Question Id : 6404119778 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the correct photosynthetic equation related to Ecosystem.

806 Rnd Ronofod), 86 erdod@rn8air S6EHE Jandbno BwDod.

E When plant produces 162(gr) dry organic matter. 264 gr CO, 1s fixed.
162gr ﬁ“&é%ﬁémgaﬁn 2BYBhRagpth 264 gr C 0O, & %;E:Dﬁ-éc,
II. 1 gram dry organic matter can fix 1.63g of CO,.
2.8 (e ErE8gI Seego 1.63g CO, % %;:%ofaai:.
II.  To produce 198 gr O, plant absorb 284g CO,.
198 gr O, #air05 284g CO, Sngen ((ferohb.
IV.  Plants can consume 687.5 K cal solar energy to produce 180 gr Glucose.
180 gr rips°E #ci68 687.5 K cal #6450 Inen DAGFAT00.
Options :
| LI



Question Number : 19 Question Id : 6404119779 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
A sophisticated instrument disigned by J.C. Bose was so sensitive that 1s could

record even the minute growth of a plant upto a millinth part of millimeter is

0. &% BrErobodd wdod whTrss HO555nE® InYed® N BHHEOD

A
m

= =
0.8,

2

o By B £ =g = Y £ | x =1 ~ =@
2.8 09 ebE® Hhege HSo K SArd Jobre Srgrsy 508650 2b?

2

Options :
Crescograph

Micrograph
DS

) % rralm il R
Thermograph

BT

4) Monograph

SIS

Question Number : 20 Question Id : 6404119780 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the following

& (Soh rped” 580 a8 rhbodol
I) No energy is used directly by the plant to translocate water.
TR JparodBo dointo Iwen [HegEore ¥80 DAGrA0DE.
IT) The mechanism of water transport from the soil through the plant body
to the atmosphere includs diffusion. bulk flow. and osmosis.
Ro Ho6 FNHEEDS, Fng) Hod TErdSning s I S TotheH D5,
raTee (Bamaain shbain (Hardiite ﬁgtﬁuj.cﬁ@‘um.
IIT) Water moves in the root via-apoplast. transmembrane and symplast
pathway.
3B A e, woddESsm Hoaw ROSPR AT et $D506.
IV) The cohesion tension theory explains water transport m xylem.

ey Toe 8 deard) “odoms - dgEr Hrpodan DH0500.

Options :

1.

Question Number : 21 Question Id : 6404119781 Question Type : MCQ Option Shuffling : Yes Display Question

I, I, II
®

1L, III
%
, IV only (Sr|#h)

LI IV
o

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Amnudes are formed due to the replacement of hydroxyl

part in aminoacid by another NH; radicle.

Adgo (A) : %Eﬂ_ 895300650 ‘*clt:@,‘ @ griio NH, ©o° B85S e lab e llay
wHhi aEeEran.

Reason (R) : Amides are formed by transamination reaction.

s=8m0o (R) D e oINS oo adfo a8 hEron.

Identify the correct option from the following

Bod B&° 35BS SeA)) HBodod
— Tt —

Options :



(A) and (R) are true. (R) is correct explanation for (A)
L (A) s08ain (R) &85, (A) 8 (R) &85 DH5es
(A) and (R) are true. But (R) 1s not correct explanation for (A)
(A) 0805 (R) {853, (A) 8 (R) {885 D88 0

(A) 1s true. but (R) is false
3 % (A) {"'.:'B & Sk (R) PJGESE: t2uIay)

(A) 1s false. but (R) is true.
4 % (A)5836 =, =2 (R) 5836

Question Number : 22 Question Id : 6404119782 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In root nodules of legumes. Leg-haemoglobm is important because
Brig Fnge 0 mEDed’, BRErarTOS o SHEHEn 05085, JokhDdessme

Options :
It transports oxygen to the root nodules.
& 58 (S5 Shmbhen 68 mSS ©ohiiod.

1. ®
It protects nitrogen fixing enzyme from oxygen.
G 3P (Saygein JFed pos INE edes SHod 5550b.
[=] o
2.9
It provides energy to the nmitrogen-fixing bacterium.
B0 S|Fed T8 eribairh 480 ahob.
3. %
It acts as a catalyst in transamination.
lfWD _\\&ro.«of\.ﬂﬁﬁ -{d @j é)lé ééﬁﬁuﬁn Jc ﬁcf_“:c:‘)ﬁ
4. %

Question Number : 23 Question Id : 6404119783 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct response with respect to given equation.
& 1808 sl HE0EBHINSD [onobod H56 wond o[ A §5c:-w

CO, + H,0 = H,CO,

Options :



Carbonic anhydrase is an enzyme required for accelerating the reaction

o &5 Srfore atrbe sondE oltrEE o ISBD o5is5n

Even in the absence of enzyme this reaction is fast enough

5 % SRR ééﬁcma’ém“é & “‘{5 cSrorrs atirndod.

200 molecules of H,CO; per hour are formed in the presence of

CIZVINIE.

SR faa‘i}gotﬁs & SbASII 2.8 ot 200H,CO;menen ot deran.
3. %

6.00.000 molecules of H,CO, are formed for every second n the
absence of enzyme.

Eﬁjﬁém\pt& 2.8 n8oths 6,00,000 H CO eEayen Sf\EEron.

Question Number : 24 Question Id : 6404119784 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

20b arnd” DB arsmen o)
= b E) =

L Proton gradient across the membrane decreases due to cyclic flow of
electrons between PQ and cytochrome b.

PQ 8o pEAED b e avialY W&EE Gareee SO &ido Dol 6008w
S0GY (PP [@aead Erpeol.

II. NADP reductase enzyme is located on the stroma side of the membrane.
NADP 8538 2085 o308 35 63 &80 3 Sod58D eotnob.

III.  PQ removes electron from the stroma

PQ 53588 500 Jogsod Foniiob.

Options :

ITand I

IT and IIT
2.

I and III

1T only
4. %



Question Number : 25 Question Id : 6404119785 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct sequence of no.of molecules formed when 6 meol of CO,
enfers into calvin cycle pathway.

—£ - B
ELNIL gHos® 6 emHe CO,a eﬁ“am;;a@ oyl “@thj;gj)é a’:m@c}; EDER)])E) S0

30508 I\_éBSJ ol
Options :

4 xylulose 5P. 6 Ribulose 5P

4Bené’E 5P, 6 OayS’E 5P
1. ®

4 xylulose 5P. 2 Ribose 5P. 6 Ribulose 5p
\f 4Bn&*E SP,2p&°E SP, 6 bags’E Sp

2 Ribose 5P. 4 xylulose 5P. 6 Ribulose 5p
&°E SP, 48en&’E SP. 6 6= ,ﬁag 5p

tJ

4 xylulose 5P. 2 Ribulose 5P, 2 Ribose 5p

48ené®E 5P, 2 bangs®S SP, 2D8°E Sp
4%

Question Number : 26 Question Id : 6404119786 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : TCA cycle requires contimious replenishment of oxalo-
acetic acid.

(A) : TCA Secho Qbodtrehorr F3rnd8 esnd® ebaE efo
807 JosrPsha)dr ord.
Reason (R) - TCA cycle requires regeneration of NAD™ and FAD™ from
NADH and FADH.
s=8mo (R) . TCA $echo NADH 56c5n FADH 500 NAD' 580k

FAD' 55t Sowed.
Identify the correct option from the following
Bob T&E° HBS wYseY HB0S0s
Options :
(A) and (R) are true. (R) 1s correct explanation for (A)
(A) 59Baiw (R) 5852, (A) 8 (R) 888 D56,



(A) and (R) are true. But (R) 1s not correct explanation for (A)
_ (A) 0Baim (R) {053, (A) 8 (R) {503 288, 5o
(A) 1s true. but (R) is false
S (A) {5056, =22 (R) {9056 =0
(A) 1s false. but (R) is true

(A) 5856 =25, 520 (R) K856
4. %

Question Number : 27 Question Id : 6404119787 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following

Bobd &R eedaitehain

List -1 List - IT
S03 -1 S5 - 11
A 24D I.  Brewing Industry
ForOn 23B(ESD
B. GA, II. Respiratory climactic
Tril8ah B8
g Cytokinin III. Delay of leafsenescnce
265808 D0 wogo
D. Ethylene IV. Dicotyledon weed killer
2608 et Dy Bend DarSes
Options :

A-TV, B-I, C-III. D-TI
1.¥

A-TV, B-III, C-II. D-1
2. %

A-1, B-II. C-III, D-IV

A-IL. B-III. C-II. D-IV
4.%



Question Number : 28 Question Id : 6404119788 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

Bob RS IBS arsxe HHoWEw

I Conjugation is a conservative process because donor bacteria donot
retain copy of genetic material.

ar—é&oﬁr—* Soasnrfod® ed mé-ﬁ)cﬁr—* R aRysrodo $8end DendHs
sPadd ab Dodgs (Sab.

II. In Bacterial transformation. genetic information is expressed in
recipient cell.
erSBoir egbSESE® (1iErd Swos® ey dErmrto JESHH0b.

III. Salmonelta tvphimuriim is a transformation bacteria.
FEYTep FHATNOADO gD RES BHDHEFD erEbaT.

IV.  Biologically active toxic pollutant can be detected by Biosensors.
dR5BarHod:md Dirod sPensy) SPOsPeRh adEvanden Hhiodne.

Options :
II and IV

Tand IT

3 % IIT and IV

IT and IIT
4. %

Question Number : 29 Question Id : 6404119789 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
8ol AR adNtbhain

List-I List - IT
Sthd -1 Sthd - 11
A, M. Beyrinck I.  RNA genetic material
M. 22808 RNA axsiygsizego
B. D. Iwanowski I TMV o
D. 255%) ™V
C. WM. Stanley II. Crystallization
W.M. 38 & &858
D.  Fraenkel Conrat IV. Contagium vivum fluidum
(3086 Qe 55 Holzend (550
Options :
A-TVB-II.LC-TII.D-I
1. ¢

A-IV,B-IILC-IL D-1

2. %

A-LB-II.C-IMII.D -1V
3. %

A-LB-IILC-ILD-1IV
4. %

Question Number : 30 Question Id : 6404119790 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ratio of genotypes of wrinkled : vellow coloured seed obtammed in F, generation
of parents having pure round and yellow and wrinkled and green phenotypes in
a dihybrid cross

&:}éoéémo@ﬁ 26 DoBD H:ha) D0 hndden 8d) gyFirdo 899 2 gdmare

Dol 2B)8d F, S$806° Swiden : DB 20 B8 R As)d

Options :
2.8 1:2
L2 a3



Question Number : 31 Question Id : 6404119791 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The total number of progeny obtained through dihybrid cross of Mendel is
1280 m F, generation. How many are recombinants in this ?
Fotd B35088 Hostemins® F, 8506 0ol Fnge Jomy = 1280. wonds’

HEd olr)) S0He0 2 Iz ORI HTHoD 7

Options :

Question Number : 32 Question Id : 6404119792 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following

|Bo&mrdR) eedituhain

List-1I List - II
S -1 Ss -1

A.  37-5 phosphodiester linkage I. Nitrogen base + Sugar
3’-5" B0 wogo Sghesd) spdan + S8)0

B. N-Glycosidic Linkage II. Nucleotide + Nucleotide
N-fp8 288 200 SaErSE + SrdErss

C. 5" end of the polynucleotide III. Sugar + Phosphate
FOSBERBESED 58 S5 + ;jo?“:;jeﬁ

D.  back bone of DNA IV. free phosphate moiety
DNA S8 f;éf_ﬁ: i‘-ﬂ‘f{,@; Swondd

Options :

A-II, B-1, C-III, D-IV
1. ®



A-III, B-I. C-II. D-IV
2. %

A-I B-1. C-IV, D-II
3. %

A-II. B-I. C-IV, D-III
4.

Question Number : 33 Question Id : 6404119793 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct ?

& (Boh &S 58S womeed HBoS0s.

L The packaging of chromatin at higher level requires additional set of
protemns called non-histone chromosomal proteins.
E5rBS doymain e (Harnos® Srirohdnd S-S (Eardt
S5 etomr o5355n wzEron.
I. Insome viruses. the flow of genetic mformation for protein synthesis is
in the reverse direction that i1s from RNA to DNA.
8o Qtﬁ'ﬁ&:ﬁe, @CE%K&: faoﬁéwé [ PSTe =vs eI 3;&:] Hiroetsin RNA Hiod
DNA 8 &8s é:cgc::é‘s @908,
III. RNA is the gentic material that is passed from virus to bacteria was
given by Avery. Macleod and Mecarty.
@330, S8a5rE HbdsL e et gohe DHod ajﬂg‘:acﬁfcé: Bareae @0'505
adygordsn RNA o) e,
IV. RNA polymerase II transcribes the precursor of 558 RNA.
RNA 9:0¢ Il w5 2885 rpdyrdn 58 RNA & edBpdsn Jdob.
Options :

1.\%;I.]I

, % ILTI

oI Iv
3. %8

LIV



Question Number : 34 Question Id : 6404119794 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the mcorrect statement among the following
8ok RS 505 T hhodhn
Options :
The process of separation and purification of the product is called down
stream processing.

2.8 8@y SGToho HHVDHSH0 oF [HECHD eHiFHaT [HE0DH wotrt.

Bioreactors are used for the production of large quantities of enzymes.

- OE JoBsne SErHTRErdS a@rOaFEED TeEHd),

Most commanly used bioreactors are stirring type.
PErSoe 6NErA0D a@roargben Qooh SR
3. % -

Small vohune cultures can yield appreciable quantities of products.

D8 3035850 e a‘izﬁsvﬁu mw{ﬁwzé éo@e BE IO BRe.
4.

Question Number : 35 Question Id : 6404119795 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It helps in identifying and eliminating non transformants

HHBED STPSD B DoY), FwhoHed® 5h SHFADHDEOH

Options :
Resfriction enzyme

BRES J0BS

Anftibiotic

sofdad@ras
2. %

Selectable marker

580 DaAHesH Srtbeon

3. “ -
Plasmid
sreyfen



Question Number : 36 Question Id : 6404119796 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0
Study the following lists

£ |B0h 78 280008

List - I (Variety)

2D - 1 (885w)

A Transgenic papaya
RiygR0N08 &amon

B. Bt - cotton

Bt - 2&

C. Roundup Ready soyabean
of ©% 88 FordS

D. Transgenic Tomato

BRy008 e &5°

The correct match is

200 eomat)
Options :

A-II.B-V.C-ILD-IV
1. ®

A-IILB-OILC-IV.D -1
2. %

A-TMILB-1.C-V.D-II
3.8

A-ILB-IV.C-LLD-V
4.

Question Number : 37 Question Id : 6404119797 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

List - II (Resistance to)
5605 - I (28°5588)
I. Herbicide
rheyreEEan
II. Rungspot virus
BoharRed 68
III. Phvtophthora
Fe sk Vo
£ g
IV. Insects

V. Pseudonionas



Match the following

808 &R exeddithan

List- A List- B
S - A S5 - B

A.  Forensic science I Gene therapy
36 568555 Deriism 23e3); W8

B. Antigen-artibody inferaction II. PCR
HBESIID - (HBOKE 6B 365

3 Detection of HIV III. ELISA
HIV ?30::(55:3

D. Gene nsertion mto the cells IV. DNA finger printing
to treat disease DNA F&50|c5en

0:5053038 TR0 Jardts

Options :
A-IL. B-III. C-IV. D-1

A-IV, B-II, C-1II, D-I
2. %

A-1IV, B-1II, C-II, D-1
3.

A-III. B-II. C-I. D-IV
4. %

Question Number : 38 Question Id : 6404119798 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Choose the mcorrect statements among the following

Bob AE° oS argaged HBoHED

L Hairy leaves m plants are associted with resistance to insect pest.
HlEren 60t See J0d S0 Do ATEESSH 59 dotron.
II. Solid stem of wheat rejects stem saw fly.
Aeehshed® S"-‘O{'ﬁcﬁﬂ?}; 18 ooy DEsS0.
OI.  Smooth leaves an& nector less cotton attracts bollworms.
e se, S8%oo B2 38 Bseen 500D FOD HHHeH f:aér’;‘gpfg;’n.
IV.  Resistance to maize stem borer is by low aspertic acid and high nitrogen

and sugar.
AHEHES & seoffo 0T Horbe (HaB S &$5 Epad eambEE esiho, 28N
R(Besd), IHYO HoD ;Jtﬁoj,té);ﬁj.

Options :

|« |

Question Number : 39 Question Id : 6404119799 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Select the correct statements among the followmg

|Bob aeE° 58 eowd woud HBoSos

I) The use of biofertilizers reduce the use of chemical fertilizers.
E3 e FEESD HUD BHS DD TEESD eﬁfg-fa:o&.

II)  Mycorrhizae enhances phosphorous content in the soil.
DEBer SpBEE’ FBED whso Tkob.

IIT)  An important biofertilizer in legume crops 1s Rhizobmm.
By Howed® BEHAHHD wagFhs €5 DD

IV)  Glomus forms mycorthizal association with plants.
Aed Fwes® 4Do|f Srere DiFardo athdmron.

Options :

LI IO
1. ®



II. IIT
2. %

L, IV

4 LILIV

Question Number : 40 Question Id : 6404119800 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the following

(Bob aed” D0s°R) argen rHoHhan

Options :

Super Microbes are resistant to many drugs.

D568 Féjﬂ;ééé;j;?jj w8 TRpredH a;eawﬁ“cﬁééi Wi

Severe Acute Respiratory syndrome is a recently emerged disease.

BdDE56N @0 é.g—mf

Cyanobacteria symbiotically associated wih paddy fields as biofertiliser.

S0 D €5 e,

Nucleo polyhedrovirus are species specific msecticide.

1. ®

D) 96 & gl o o ¢
2. %

56 frerd HonTar§oase ©
3.¢
4. %

Seadir SrOIRE R0R, s -D8hMs SesTEssn

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 41 Question Id : 6404119801 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Zoology

640411215
2

Online
Mandatory
40

40

40

0

1
640411215
Yes



Pickup the correctly matched pairs from the following.
Bob =&S° B ado HBoS0d.

I.  Taxonomy - Classification
@“Tﬂhéé} - 565665
O
II. Ethology - Environment
soeed = SR Ses0
III. Genetics - Origin and evolution of life
adyTE0 - €30 DepE, ol HBevo
IV. Palacontology - Fossils
DTE a‘:favmo - Feroren
Options :
N |
1. %
LIV
2. ¢
IT, TII
I, IV
4. %

Question Number : 42 Question Id : 6404119802 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The measurement of the overall diversity for different ecosystems within an
ecological region 1s
2.8 D38 L5800 S08eos® DO E=ses aﬁ;égwﬁ% Swdo HHE= Y BEoo
Options :
a-diversity

3950

B-diversity

B30

2. %



v-diversity

';f-éa‘:ucﬁao
3.

o-diversity
0-30Es0

4. %

Question Number : 43 Question Id : 6404119803 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : Aponeurosis 1s a type of connective tissue.
Ld&o (A) : &)éﬁ*é:ﬂé&‘c'?oﬁ O3B o.€ BEDS Dodra¥ Lnwrvo.
Reason (R)  : Aponeurosis is a chord-like structure that may extend bevond
the muscle.
=80 (R) | QBT ©Rd SokorR) & SFEACHRED 89 orod Roeeo.
Identify the correct option from the following
Bod =&&° 5B 9= HBotok
Options :
(A) and (R) are true. (R) 1s correct explanation for (A).
(A) S8ai» (R) 5350 A2 (R)$38% 2580m.

] ®
(A) and (R) are true. But (R) 1s not the correct explanation for (A).
(A) S8ci» (R) 35888, =0 (A) 8 (R) 385 D58 ==

2. %

(A) 1s true, but (R) 1s false.

- (A) 858, =0 (R) Qz0 =&o.

(A) 1s false. but (R) 1s true.
(A) 35888 ==, =R (R) $B86.

4. %

Question Number : 44 Question Id : 6404119804 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Study the following statements and identify the correct option :
Bod wozre®n &:dﬁ;dﬁ:ﬁo oD NIt SES) 8otiod !
Statement I : Satellite cells surround the cell bodies in ganglia of central

nervous S}"TE‘III.

wodo | . Tol =8 ‘5555‘5"'%}85‘5?0 o8 SotHe ther T8 8¢ ¥omew  BotTom.

Statement II : All types of neuroglial cells originate from the embryonic
ectoderm.

wodo II . of)) Sore Eﬁ:ﬂ;ﬁ‘;ﬁdﬁaﬁ Semen 208 2o Dol «dE)dTow.

Options :
Both statement I and II are correct.
wozren [ shdaiw II5BR.

1. %
Statement I 1s correct. but statement II 1s incorrect.
wodo I 5888, =20 wodo I 5BH6 ==&

2. %

Statement I 1s incorrect, but statement II is correct.

wodo [ 5888 ==th, =8 wo¥o Il $BH&
3 %

Both statements I and II are mcorrect.

wozren I 08din II 888 ==:.
4.

Question Number : 45 Question Id : 6404119805 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Endoneurium 1s
&;o&?éw;&cﬁ:o w38

Options :

Epithelial tissue

. a8gr e
.



Connective tissue
So@rres¥ s
2.

Muscular tissue

Xoi8 Bomrroo

Nervous tissue

T8 Besemero
4. %

Question Number : 46 Question Id : 6404119806 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the schizocoelomate phyla from the following.
Bod oB&° DesE 68 L8 dpens) Sored KHBosod.

I. Platyhelmimthes II. Nematoda
T8 0BT I5ste
III. Annelida IV. Chordata
IO SoOer
V. Arthropoda VI.  Echinodermata
o5 AP ey
VII. Mollusca
SO}
Options :
I ML -1V
1. %
L, v, VII
2.¥
IV, VI
3. %
LI



Question Number : 47 Question Id : 6404119807 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.
Bod & :s858508.

Larval form Phylum
&ogfdo X%o
A) Trochophore [. Cnidaria
e5°55958 QBB
B) Bipimnaria II. Annelida
BHY BT ERble
C) Planula III. Platyhelminthes
eRoerm 9._}3;%3?&)@0&:5
D) Miracidium IV. Echmodermata
DoedE o0 =BS O
V. Nematoda
Hostee
Options :
e A-IT, B-V, C-1II, D-IV

A-1V, B-11, C-1II, D-1I
A-III, B-V, C-1V, D-1I

A-II, B-1V, C-I, D-III
4.

Question Number : 48 Question Id : 6404119808 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Anamniotic tetrapod is
aeSirs SShaps €9
Options :



Pristis

2.¢

Sphenodon
‘%55:3?5

Psittacula

ﬁdgs.g:ezﬂ

Question Number : 49 Question Id : 6404119809 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Study the following and identify the correct combmations :

(Eod 8 eacﬁadﬁaéo - B ¥EDoJHod KBokod.

SI1.No. Class Character Example
R.80. SEHE 50 =it
I Chodrichthyes| Claspers Scoliodon
508880 D008 Somren EOOTrGe
1I. Amphibia Three chambered heart Draco
&5chdTren Harey KD® a’iﬂe)céoﬁao (°E°
I11. Reptilia Cleidoic egg Chelone
SRV SrromnE womeen 46°5
IV. Aves Renal portal system 1s absent| Corvus
SFen a’aﬂ:,ﬁ;ﬁ)oza’:nﬁ a’a;ég = lalelny 5O
Options :
I and III
I &80 I

1.v




II and TV
IT S08c50 IV

2.8

IIT and IV
. I So8csn IV

I, IT and III
I, II o80%: 11T

4. %

Question Number : 50 Question Id : 6404119810 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Hologamy 1s observed m
S KDY S £0E° KHoSHSy

Options :
Plasmodium
éﬂﬂ@fﬁoﬁn o

Trichonympha

@Ba%oc_au

Torticella

SERer
s_’ -~

Paramecium
DBLHAvo

Question Number : 51 Question Id : 6404119811 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Study the following regarding types of falagellae and identify the correct
statements.
Ezgre Soce MHBod) Eod T egichdo o9, BTN womres MHBotold.

I.  Stichonematic flagellae possess a single row of lateral appendages.
E;‘EQW&E Ezerren o S%0S* Yy, doeyereo LOA eotrow.

II. Pantonematic flagellae are completely devoid of mastigonemes.
Fo*AErEE Lerprod® SrHAfDen Srgme S*haro.

III. Acronematic flagellae have a nacked termunal part of the axoneme.
s8R AE Sgred® @EEQ@SJ ©odrto Siforr eaoinod.

IV. Pantacronematic flagellae are completely devoid of terminal nacked
filament.
FoFERSrEE Srrrod® vod SoHPHS” Ko S hRod.

Options :

I and III

I $08asn IIT
1.¥

IT and IV
IT S805n IV

2. %

[ and IV

I 58050 IV
3. ®

[T and IV
III &o08csn IV

4, %

Question Number : 52 Question Id : 6404119812 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
Bod 78 ssi8S508

Substances Functions
én‘nq_:w e
A) Barbiturates [. Cause sleeplessness
2°E)0085) ABSDH Ldaron
B) Amphetamines II. Cardio vascular system
wodHeB TBEH ($58es LHP
C) Benzodiazepines III. Sedatives
Bo& EsrE ) oy Hoots
D) Cannabinoids IV. Tranquilizers
Eordaranl) (Seodseen

V. Cause sterelity
Soge=Q) SOAZ=ow.

Options :

A-III, B-1IV, C-V, D-1I

1. ®

A-IIL, B-1, C-1V, D-II

2.

A-II, B-1II, C-1, D-IV

3. %

A-V, B-1I, C-1II, D-IV

4.%

Question Number : 53 Question Id : 6404119813 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The larva of Wuchereria exhibits
65360t Gwy) oo (H5§oRs.

Options :



Exra mtestinal migration
eeFro(E Sed
1. % b
Ex-flagellation
XS @Saéeiéo
2. %
Nocturnal periodicity
Doeore edddo
3.¢
Anisogamy
EFSEWeTolovvidate!

Question Number : 54 Question Id : 6404119814 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the mismatched pair
Bod =08° $852Q 285 MHBo%0s

Options :
Plasmodium - Hypertrophy
gOEdabo - 0555
1. ®
Virus - Neoplasia
355 - BB
2. %
Fasciola - Hyperplasia
FrHTrer - oS ot viesleves
3%
Wuchereria - Gigantism
&508a1r - ©&SCHE
4.

Question Number : 55 Question Id : 6404119815 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Study the following regrading circulatory system of cockroach and identify
the correct option.
&°go¥ BE(DBe 180 (Bod =ER egidbio 3%, $B% =R 8otk

— T,/

Statement I : The cockroach heart 1s a tubular structure with 13 chambers.

wodo | I Q0¥ Spdabo mrersmdorr 13 Hdherh Z0A dotnod.

Statement II Haemolymph in cockroach plays a role in oxygen
transportation.

wozo 11 : f&o"é‘g SAr00D oljal Sord® (8 $5508.

Options :
Both statements I and IT are correct.
wozren [ Hbcin 11 3888.

], %
Statement I 1s correct. but statement II 1s incorrect.
wodo I 3888, =8 wodo Il 5886 ==t.
2.
Statement I 1s mncorrect, but statement II 1s correct.
wodo [ IB8@HS ==th, =20 woo Il JBToa.
3 %
Both statements I and II are mcorrect.
wozren [ obcim Il S8&0&8d ==:.
4 %

Question Number : 56 Question Id : 6404119816 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In cockroach, theﬂnoreceptor sensillae are located on
apfalels N SRS Q)eren 3L GoLow.

Options :

Antennae on head
S 800 I <‘5 'B;orww

1. ®



Labrum of mouth parts

F& rrrod ) 430

2. %

[

Tarsi of legs
So¥ Bk Erd)oen
] & o)

3.¢

Maxillary palps of maxillae

&3

ot

of)de o0fse foojés. r?-g:,orww

Question Number : 57 Question Id : 6404119817 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the icorrect statements.

Bob &R w0 B 386500 wowen HBoN0E.

I.  Oriented locomotor movement of an organism towards or away from
the direction of light is called photokinesis.
508 SR8 eXrdesore Boe 5808 84" dHe AT TPo8 ©RrBso
(EleTvite
II. The influence of light on non-directional movement of organisms 1s called
phototaxis.
£H0 @Q;{& Sob0 DS o KenXED (el P08 wdodo votrd.
III. UV-B and UV-C rays are more harmful than UV-A rays.
UV-A 88tre E08 UV-B, UV-C 88cren (HSrmSE8088.
IV. Photoperiod mfluences the migration of birds.
S°08 RO BPo Jodp (Do EOA Gonod.
Options :
LI
1. ¢
III, IV



I, IV

I, ITI

Question Number : 58 Question Id : 6404119818 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.
Bod & 38583508,

List-I List-II
$5&S3-1 S&3-11

A) Plankton I. Ranatra
280 So(E

B) Neuston II. Spirogvra
SaeS SoNealoi

C) Nekton . Clams
i) )

D) Benthos IV. Bryozoans
oD RS Sen

V. Dineutes
Sond S
3 ey

Options :

A-II, B-V, C-III, D-I

1. ®

A-V, B-III, C-I1, D-I

2.8

A-IV, B-1, C-V, D-II

3. %

A-II, B-V, C-1, D-III

4.9

Question Number : 59 Question Id : 6404119819 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes



Correct Marks : 1 Wrong Marks : 0

Hospital wastes are disposed through

S8 FTo WDoSERE TED

Options :
Scrubbers

©ppbes
1. ®

Electrostatic precipitators
OETEE (22HBLE)

Catalytic converters
SOBAE LB
— w -~

Incinerators

g8%es cholgeen
4.v

Question Number : 60 Question Id : 6404119820 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : The parietal cells of gastric glands secrete Castle's mtrinsic

factor in man.
Q8880 (A) : SrdHed® 288 Hopo Hiimrer obS 30(BE =8~

(B QFom.

Reason (R) : Castle's intrinsic factor 1s essential for the absorption of
cyanacobalmin.

8690 (R) ;. R ronS e’ 5ohE 30(B)E o8B0 wgskdo.

Identify the correct option from the following
Bod o&S* $BS oYeR) KHBoN0s
Options :
(A) and (R) are true. (R) 1s the correct explanation for (A).
v (A) o8cin (R) <5858 (A) 8 R IBS D8d8es.



(A) and (R) are true. But R 1s not correct explanation for (A).
) (A) S08a%w (R) 5882, =20 (A) 8 (R) 588 88 ==
2.

(A) 1s true, but (R) 1s false.
(A) $B%8, =2 (R) 5B88 =H.
3. %
(A) 1s false, but (R) 1s true.
(A) SB%8 = =R (R) S856.

4. %

Question Number : 61 Question Id : 6404119821 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Low pH, high CO,, high temperature shifts the oxygen-haemoglobin
dissociation curve towards
S5 pH, %98 CO,, 258 afPKS H6D&HoE" ©2\u5-4r3rR0S d@ruce
é@a& £ DB asordeod.
Options :
Left side
DES BH

Right side
A B

2. ¢ £
Remains same
a’wvdzoj Yo alnb)

3. %

Upper side

- .
2 S
4. %

Question Number : 62 Question Id : 6404119822 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Correct sequence of electrical impusle transmission in the human heart 1s
B8 )BeHoS R S ahIR (BT ERHEes® g0k
o @ o )

A) Pukmje fibres
28T SodHen

B) Atrio ventricular node
ﬁg:n 22885° B

C) Sino Atrial node
2oe ﬁgzﬂ ¥ea0od

D) Bundle branches
20&S (croden

E) Bundle of His
2088 85 &5

Options :

C>B—-E—-D-—>SA

1.v

C>E—->B->D->A

2. %

CaD 3B 5E A

3. ®

B-C—SsE—-SA—->D

4. %

Question Number : 63 Question Id : 6404119823 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Statement I : Ammonia is highly toxic and needs more water for elimination
and therefore excretion of ammonia is more common in
aquatic animals.

wodo I . oTRRir egd DEGBEFEE =% o= DL LS D%
w580, ¥5¥ modoeed® t‘:?EJ"égJGSJ“ &Jééeﬁ S8 FrgrdSeoo.

Statement IT : Urea 1s synthesised m kidneys.

wodo 11 . orbair SirEbomed® Yodhdo ©Ekhod.

Identify the correct option from the following

Bod =&&° 388 2= H8odod

Options :
Both statements I and IT are true.
wozren I, II3BRD.

1%
Both statements I and IT are false.

wozew I, I1 5888 ==.

Statement I 1s true, but statement II 1s false.
wodo [ 58K, =20 wodo Il $BKH ==tv.

Statement I 1s false. but statement II 1s true.
wodo [ 3888 ==th, =0 wodo Il 5Bs.

Question Number : 64 Question Id : 6404119824 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
Bod &Y edBBiHdm

Types of joints Example
2¢) Swoen STPSe
A) Hinge joint I. Atlas-Axis joint
S0 S B8 580-0 5358 Seo
B) Ball and Socket joint II. Thumb jomnt
208A3) deo S5 Denst e
C) Pivot joint III. Knee joint
SRS Een Srze® den
D) Saddle joint IV. Shoulder jomnt
=8 Een a0 &en
V. Wrist
Soed ey

The correct match 1s :
JBEE 28D HBohdw !
Options :

A-III, B-1V, C-1, D-II

1. v

- A-V, B-1I, C-III, D-IV

A-III, B-II, C-1IV, D-V

3. %

A-1V, B-1, C-II, D-III

4. %

Question Number : 65 Question Id : 6404119825 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Study the following and identify the correct combinations :

Bod =8 @c‘,ﬁg)ci.‘baéc B, 038 Do¥QoHed h8olod.

SLNo. | Neuronal event Ion movement Effect on neuron

.50, | bl 84 vdrae dodo 880D (b

L. Excitatory Post Na  mflux Depolarisation
Synaptic Potential
(EPSP)
aded &% $0b Na~ &he% OE)Seo0
S88=en (EPSP)

II. Inhibitory Post Synapti K influx Depolarisation
Potential (IPSP)
28°5% =& D0b K &f 5% @@és@o
SE¥==en (IPSP)

I11. Action Potential Rapid Na™ influx Membrane potential

spikes

Ealr&X g0 Sore Na*~ 5% &rido @Y £ %0

IV. Threshold stimulus  |C/™ mflux Generation of

Action potential
B el CI %50 Eoirdd) a8
Options :
[and II
I $08asn 11
1%

1T and III
5 % I aodcio III

III and IV
III H08cin IV

I and III
I 508c%0 IIT

4.

Question Number : 66 Question Id : 6404119826 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes




Correct Marks : 1 Wrong Marks : 0

Match the following
Bod & 8583506

A)

B)

€)

D)

Options :

A-III, B-IV, C-V, D-II

1. %

2.8

Hormones
;’5‘555&26}&:0

Insulin

53903

Growth Hormone
Fololablnld) 5*56'%5
Thyroxine
goed R

Cortisol

SRS

. A-III, B-II, C-IV, D-I

A-V, B-II, C-IV, D-1

3. %

A-1V, B-1, C-111, D-II

Question Number : 67 Question Id : 6404119827 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pickup the polymorphonuclear phagocyte

- % = -P“ ?‘fl“{ ?{ §
28RS So(E $EE Beso (phagocyte)

Options :

Basophil

1.

ZBLS

II.

III.

Disorders
@é;‘-‘gé&w
Addison's disease
QBEIRY 756
Acromegaly

s 2ord
Diabetes mellitus
ESTOBD 3nHELD
Cretinism
ELARESSY

Diabetes insipidus
oA 230285



Kupffer cell

X750 Beo

2. %
Osteoclast
LA lonntop )
3 ® [-¥] e
Histiocyte
4, %

Question Number : 68 Question Id : 6404119828 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Cushing's syndrome is due to hypersecretion of

%2108 o[B8 so8mo &Y wdYE [FPS.

Options :
Aldosterone
eSTHE S

1. % e
Adrenalin
BT

2. ®
Epinephrine

. LIS
Cortisol
TQ&MS

4.«

Question Number : 69 Question Id : 6404119829 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

It 1s a secondary lymphoid organ.
28 &;&ecﬁﬁ} Dogront ©dhdo

Options :



Thymus gland
R (o

1. ®

Bone marrow

®a 208
2. B =
Spleen
5500
3. T
Bursa of fabricius
202y aR@R0HR
4. %

Question Number : 70 Question Id : 6404119830 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Lactational amenorrhea is a natural method of contraception.

Q880 (A) : @é&’;ﬁﬁ DB oz BB SE E(Jrgéoa:é's S orred®
258,

Reason (R) : Ovulation in mother generally does not occurs during intense
lactation following parturition.

=530 (R) . (PRH0 ShTE are ad)8 wdihég)t Fgrdrorr &-ﬁoﬁsé&go
lelalne)

Identify the correct option from the following

Bo& F&S® Sfel! EAN SN 1o8oXob
Options :

(A) and (R) are true. (R) 1s correct explanation for (A).

(A) 28c%0 (R) £859. (A) & (R) $8% D8
1.«

(A) and (R) are true. But R is not correct explanation for (A).

(A) S8cs (R) £858. (A)2 (R) 588 D58 =
2. %



(A) 1s true, but (R) 1s false.
. (A) 3888, =0 (R) Rezo ==&n.

3.
(A) 1s false. but (R) 1s true.
(A) 3888 =, =R (R) 38%s.
4.%

Question Number : 71 Question Id : 6404119831 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following are the accessory glands of human male reproductive
system ?
208 TAS® Sr8S HBR PEpEB B edowoPore 0% (Hoen D ?

[}

I. Skene glands II. Bartholin glands
5 (Homoen BOS (Kogoen
III. Seminal vesicles IV.  Lesser vestibular glands
S|seEasen A8y @808 (Kogen
V. Prostate gland VI.  Mammary glands
FEHA (Ko &5 (Kozoen

VII. Cowper's glands
55 (Kogoen
Options :

I, 0L 1V

1. ®

V. VL VII
#

2.

III. V, VII

3.
I, IV, VI
Question Number : 72 Question Id : 6404119832 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0



Spirochete bacterium causes this disease m human beings
1;355565 z:néacﬁ:o g SrsHes® SO0 ah
Options :
Gonorrhea
1.% RIS
Syphilis
DO
2. ¥
Trichomoniasis
BE SRR

Chlamydiasis
EEATID

4. %

Question Number : 73 Question Id : 6404119833 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If both parents have B blood groups (both are heterozygous), the expected
blood groups i their children.
$DBoEDEEr B 88580 (288 Dy chorpren) wownd, 28 Lo 88 Soren
Options :
B.O

1.v

A, AB

2. %

B only
B S8



Question Number : 74 Question Id : 6404119834 Question Type : MCQ Option Shuffling : Yes Display Question

Number :

Yes

Correct Marks : 1 Wrong Marks : 0

Study the following statements and pick up the incorrect statements.

Bod =R egchdo 32 3850 wome HBoBSod.
I.  Haemophilia 1s an X-linked disorder due to dominant genes.
frRriDair ©38 X-3srorg) ma’?gé 2dyrge Sy S0gdRod.
II. Inheritance of colour blindness follows the cris-cross pattern.
Soroid: edsosdd (85 -=°8 a’:gaéﬁ aorbeod.
III. Haemophilia A and Haemophilia C are X-linked disorders.
FErHOAir A H8dn FRrHddr C e X-diFel) obdséen.
IV. Y-linked genes are called holandric genes.
Y-850 adrdos FPaoldE abrder eotrd.
&l ) = 9)
Options :
LT
. %
1L, 1V
2. %
I, IV
3. %
I, III
4.
Question Number : 75 Question Id : 6404119835 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following.
Bod L 22858508,

List-I List-II
HBS-1 $5BS-11
A) Sickle cell anaemia I A5 X
BEED ¥ 6““—-?65
B) Klinefelter syndrome II. Trisomy of 21 chromosome
SRS 2ol 21 % 53R 3 5o
C) Turner syndrome [II. Point mutation
&85 2o(F° Dot BSBSES
D) Down syndrome IV. Nullisomy
&5 20855 8 &
NV A7 XXY

Options :

A-III, B-V, C-1IV, D-II

A-III, B-V, C-I, D-1I
2.

A-II, B-1. C-V, D-1II

A-1, B-II, C-IV, D-V

4.%

Question Number : 76 Question Id : 6404119836 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of genes located on human Y chromosome.
58 Y ;’“?:‘mﬁfa‘;‘.i Ko adgde Sogyg
Options :
2968

1. ®

2698

2. %



2
LS ]
[a—

3.¢

e 239

Question Number : 77 Question Id : 6404119837 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Genetic drift always increases genetic diversity in small
populations.

Q8o (A) C Ry NN 08 aTrcred® ady 3ol Rothiod.

T ] @ =4 o = =,

Reason (R) : Founder effect and Bottleneck effect exemplify the genetic
drift.

=80 (R) : %‘&',5 o Bario, wrdd TE (Hardo ey DaPEHH DHBZow.

b

Identify the correct option from the following
Bod =&&° 388 iR HBoKed
Options :

(A) and (R) are true. (R) 1s correct explanation for (A).
(A) H5080% (R) <388. (A) 8 (R) 888 958¢s.

1. %
(A) and (R) are true. But (R) 1s not correct explanation for (A).
(A) S8 (R) $8%8. =0 (A) 2 (R) $88 9538 ==t
2. %
(A) 1s true, but (R) 1s false.
(A) 3858, == (R) 5886 ==&
3. %
(A) 1s false, but (R) 1s true.
(A) 3858 =, =R (R) 3B%a.
4.

Question Number : 78 Question Id : 6404119838 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Analogous organs arise due to
(BoSrardy edcharen 8 S0 dF)Eston.

Options :



Divergent evolution
OlTE H5écgeoo

1. %
Artificial selection
) &0858es0

2. %
Genetic drift
23y aﬁ;a’m

3. %
Convergent evolution
@8 HBeeSoo

4.

Question Number : 79 Question Id : 6404119839 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

This vaccine 1s a toxoid.
&% o éJ“‘L’“n:JOJ}E folelo)

Options :
Salk's polio vaccine
&8 PFOTr 78S

1. #®
Vaccime for tetanus
SEersD m&nﬁ

2.
Vaccine for rubella
SBer 78S

3%

Vaccine for typhoid
Sarond 8%



Question Number : 80 Question Id : 6404119840 Question Type :

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following.
Bod & :8l8P08.

MCQ Option Shuffling : Yes Display Question

List-I List-I1
S85-1 S5805-11
A) Carcinoma [. Lymphatic system
manﬁasy st aSC;aS"Nq’;
B) Sarcoma II. Epithelial tissues
%S@.ﬁ? a58e Seaczreren
C) Lymphoma III. Connective tissues
DogsSr Sod@oeesd Beseeeren
D) Leukemia IV. Bone marrow
08 Qo Qd0E ogy
V. Gonads
Bles SPzeen
Options :
A-II, B-III, C-I, D-V
1. ®
A-II, B-III, C-I, D-IV
2.9
A-1IV, B-1, C-III, D-II
3. %
A-V, B-II, C-1V, D-1
4. %
Physics
Section Id : 640411216
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40



Maximum Instruction Time : 0

Sub-Section Number : 1
Sub-Section Id : 640411216
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 6404119841 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If ¢ denotes Stefan constant and S denotes heat capacity. then the dimensional

formula of — 1s
o]

S
e 5 a # —— o
G 25r8 ooz, S af TSy SR, — Gk H&ch g
] 5] (= ] [ SR — ol o)
Options :

- [N[CILET—lKSJ

[MPL2TK3]
2.

[h{Lz T—l K—4]

3. %

[M°L2T-K3]

4. %

Question Number : 82 Question Id : 6404119842 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A body moving along a straight line path travels first 10 m distance in a time of
3 seconds and the next 10 m distance with a velocity of 5 m s7!. The average
velocity of the body 1s
XEEDere a’njﬂféoeﬁ’g (BimBohhd) ol S0 FdE 10 m &rdiindh 3 DD ood’
$08c%0 Bodd 10 m &8ss 5 m s K08 (HairdoB. vond o S0H $Kew
Efefe

Options :

. 4 kmph

1.

10.6 kmph

2. %



18.2 kmph

14.4 kmph
4.

Question Number : 83 Question Id : 6404119843 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the speed of projection of a projectile 1s twice its speed when it 1s at maximum
height, then the angle of projection 1s

2% $09% (P8R0 T1YFS ool B8, ©b HB% D& S wR)h Heo H&E Dotd Béy
- w4 Bl ;-_:'
won®, ol (P28 S°wo

Options

OO
1. ®

30°
2. %

45°
3. %

e

L 60

Question Number : 84 Question Id : 6404119844 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0
A swimmer who can swim 1n still water at a speed of 20 kmph wants to cross a
river flowing at speed of 10 kmph along shortest path. then the angle with the
direction of flow in which he has to swim 1s

r

R worr &%) 8&S® 20 kmph $88° S ¥ S8t 10 kmph $88° (558508
SISV VA) $508° Ll vdd P 848 &8 SEPEIRSY S50



30°

3. %

60°

Question Number : 85 Question Id : 6404119845 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The munimum force required to stop a body of mass 4 kg moving along a straight
line with a velocity of 54 kmph m a distance of 9 m 1s

% S8y 5rBos® 54 kimph Sr08® Zebenio®) 4 kg (k5078 Ko ¥ S50 I m
Br85ne® i oS8T E0E weo
Options :
75N

1. %

100 N

50N
3.¢

Question Number : 86 Question Id : 6404119846 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A block of mass 2 kg 1s kept on a rough horizontal surface. If a horizontal force
of 4 N 1s applied on the block, then the acceleration of the block 1s
(Coefficient of static friction between the block and the surface is 0.3)
2.8 Ko EBa Sdrodd dwop 2 kg ($8o8 He o £ OF) Botbis. e &
& JSross o) (BErNoDS, © &) Sr8wo

f&?ﬂ S08cin el Svleviy E‘ﬁﬂ q:ochaa oe¥o =0.3)

2 4N

3
&

;(m

Options :

0.94ms—=

1. ®



Il ms™2
). %

zero (oT)
3.

2 ms2
4 %

Question Number : 87 Question Id : 6404119847 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A simple pendulum of length 1m is released from horizontal position. If 20%
its mitial energy 1s lost due to air resistance in reaching the mean position. then
the speed of the bob of the pendulum at mean position is

(Acceleration due to gravity = 10 m s72)

1l m &8s Ko o oo Stedor E8e Jdrods o Kool DEL TS, oo
oo TEE D B8 Hed TR DS 20% ol ;ohFE, Sreeg Fdo
58 S'o¥o Hok S8

((0%&: &dwo =10 ms™)

(48

Options :

2ms!

Question Number : 88 Question Id : 6404119848 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



The work done to take a body of mass 100 kg to the top of a building of height
20 m is

(Acceleration due to gravity = 10 m s72)

20 m & B%) FSSo 18 100 kg (508 Ko 2% S9d H53Z0wmS TS B9

vy

(9% &deo = 10 m s72)

’n
S Gt
Options :

14700 J

1. %

15700 J
2. %

200007
3.

30000 J

4. %

Question Number : 89 Question Id : 6404119849 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A solid sphere of mass 2 kg and radius 10 cm is rolling down on an inclined
plane without slipping. If the rotational kinetic energy of the sphere 1s 40 J,
then its total kinetic energy 1s

2 kg ($&roe8 Sodaiw 10 cm ag%tgo Ko 28 08 go o8 Trendeodn 8o
BoBs FEHHB. o= [Fm K8z 8 40 ] vawd, © Fgo %) Iwdo KB ¥§

Options :

1007

1. %

L% 807

1407
3.

20017

4.%



Question Number : 90 Question Id : 6404119850 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a body of mass 'm' is projected at an angle '0' with the horizontal with an
initial velocity 'u', then the average torque on the body during the flight is

(g - acceleration due to gravity)

'm' ($50°8 Ko ¥ 559 &8 SSrodBos” '0' Bino TRy I &0 TKos (©B8k0

328, K08 50D sod Sods &5
(g - & &8wo)

Options :

mu” sin 6

g
1. %
3, ]
mu- sin B
2
~Z
2. %
2 N
mu” sm?26
g
3 %
2 F
mu-sin 20
2
4.

Question Number : 91 Question Id : 6404119851 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the equation representing the relation between displacement 'x' and velocity
'v' of a particle executing simple harmonic motion is 4v2 = 25 — x2. then the
time period of the particle 1s

(All the quantities in the equation are in SI units)

DBE FordE Jolo DS ¥ ¥wo @) ﬁgé@oéo 'X' $08050 o V' © el

o 2

5. w§ T e :
Soxogrl) 80 J&n¥dwo 4v- =25 — X wows, ¥ ¥no oS o

(380%8e0 %0 ) Trdher SI (Bhreros® avmon)

Options :

TS
1. ®



Question Number : 92 Question Id : 6404119852 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The length of the scale of a spring balance that can weigh zero to 100 kg 1s 25
cm. If a body suspended from this balance oscillates with a time period of 0.27

s, then the mass of the suspended body 1s
(Acceleration due to gravity = 10 m s72)
2om) 508 100 kg drsie o8 R)of gk @od) pes 8 25 cm. & (5% Sod
Ber&boon8s 8 5555 0.27 s 9588 008 Somren IV, Berrbohnds 8D
B8
(0B &-Bwoo =10 m 52
Options :
30 kg

1. ®

50k

2. %

=]

40 kg
3.

60 kg
4.%

Question Number : 93 Question Id : 6404119853 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



A satellite 1s launched into a circular orbit of radius R around the earth. A second
satellite is launched into another circular orbit of radius 1.01 R around the earth.
The period of revolution of the second satellite 1s larger than that of the first
one by a percent of (approximately)

-

a8 adiisro grdo hepr R a—ﬁaﬁﬁgo e Joesed 5;,&55 BREDRERS. ToBD
aBHN5RY e e 1.01 R ﬁ;%“go Ko 8% Hoesy K¥ 1&° (BRE1ES, Dosd

Bd(isTo Yol Boks asido S¥) HB(Fshee Sreo QR Botd TS0 (Rodrtre)

Options :

0.5

1.0

Question Number : 94 Question Id : 6404119854 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a steel rod of a radius 10 mm and length 80 cm 1s streched by a force of
66 kN along its length, then the longitudinal stress on the rod is nearly

9?5%830 10 mm, sREs 80 cm Ke 2% e ?-icé& =R &S Fod 66 kN nedns®
FHEDS, © EG i o%0BY 5 (B8nwo HErdrT

Options :

2.1 <102 Nm™?
| %

2.1 x 10* N m™

2. %

2.1 < 10° Nm>2

3. %

2.1 x 108 N m2
4.



Question Number : 95 Question Id : 6404119855 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If two rain drops of radii r, and r, reach the ground with terminal velocities v,

and v, and linear momenta p and 32p respectively, thenr, : 1, =

I, S08050 T, argrTren Mo Botd $8:) HotbiHen SBHre v, Hobdin V, S8 oS,
2 5 _ 2

p 085w 32p BDSH (B Fres® sl Bo®), 1, 11, =

Options :

1:16

1. ®

Question Number : 96 Question Id : 6404119856 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

500 g of water at a temperature of 73 °C 1s mixed with 45 g of steam at a
temperature of 100 °C. The ratio of the initial mass of steam and the mass of
steam at equilibrium of the muxture is

(Bspo=B8 e QS

Options :

1.\‘4;'9:4



Question Number : 97 Question Id : 6404119857 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The heat to be supplied to 20 g of oxygen to increase its temperature from
27 °Cto 59 °C at constant pressure 1is

(Universal gas constant = 8.3 Tmol ™! K™})

28 bEo 98 20 g oS asfss 27 °C &0& 59 °C % Dodhed 8o

,,H\
P
N

@
¥
4

ra$o Hoodo = 8.3 7 mol ! K1)
Options :
11627

1. %

4231

2. %

93417

3. %

58117
4.

Question Number : 98 Question Id : 6404119858 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the coefficient of performance of a refrigerator 1s 5 and the temperature inside
it is —20 °C, then the temperature of its surroundings 1s

2.% 3808 cholgo Babrdone o 5 Hba ol &850 aslii8 20 °C, wond
o= BBTre BeliiS

Options :

21.6°C

30.6 °C
2.



40.6 °C

10.6°C

4.%

Question Number : 99 Question Id : 6404119859 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Four moles of a diatomic gas at a temperature of 927 °C expands adiabatically
such that its volume increases by 3100%. The work done by the gas 1s
(Universal gas constant = 8.3 J mol™! K1)

927 °C &ﬁf@ﬁé 3¢ Ko 4 Ao ¥ Bkl e ol Hoddddreo 3100%
FrlobTathihhia -8 %5‘ £ D& Boh&® -wﬂ"'séo BoBH. vond TN TS B

(& 8% mrcho Rdomo¥o = 8.3 J mol1 K1)

R
(_

Options :

249KJ

1. ®

198 kJ

2. %

57.6 KJ

3. %

74.7 K]
4.

Question Number : 100 Question Id : 6404119860 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If four moles of hydrogen and two moles of helium form a gaseous mixture,
then the molar specific heat capacity of the mixture at constant pressure 1s

Teold Irfw T RS $H0c0hn Both IrSe FOcho KD ¥ kv LEore

DE)EB, 18 HEHo BB © ViFEo T¥) Trerd DBLY Fogo
o Q =3 =
Options
16R
7



Question Number : 101 Question Id : 6404119861 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the third harmonic of a closed pipe is in resonance with fourth harmonic of an
open pipe, then the ratio of the lengths of the closed and open pipes 1s

SoesS *@Eﬁ:ﬁ;&oﬁ’ oo ¥ Sooed &) ﬁ_“"&,}bO, TOD @Eéoé;éo? 5033063::’9?6:1

Ea (4]

&% S80S ﬁ"éégogs olTEos® ) Sord af) Hddin 339 e ez PGS

A8
Options :
| x 813
38
2.¢
3:4
3. %8
4:3
4 %

Question Number : 102 Question Id : 6404119862 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



The formation of a real image using a biconvex lens of material of refractive
mndex 1.5 is shown in the figure. If this setup 1s immersed 1n water (refractive

mndex = 5) then

E‘d

[=%

£ Qe (H38Dozrdy :560363‘@926 3 ém‘g é@aﬁs’:}c‘é o 1.5 Ke 2.8 &%ozrs8 ¥6¥o

gL

4
©50S® LrHnbEs. & 5% D& (51858 thm¥o = 5) & S0

. Screen
2f r\\ﬁ\ ¢ 2f |
| o Tl N |
f \f““”‘ J
S~

the 1mage disappears from the screen.
B8 Hool [B&dono wEo b,

Options :

1.¢

the 1mage 1s magnified.
_ (388oz HBHee0 DBIDH..

the image will be real and erect.
Qa, Qeogd (H8domo DB KD

no change in the nature of the image.
$3880om0 2‘6;;,?560-95’8 Qo) L) Boith.

4, %

Question Number : 103 Question Id : 6404119863 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



In Young's double slit experiment, 1f fifth bright fringe 1s located at a distance
of 0.3 mm from the central bright fringe, then the distance of the seventh dark

fringe from the central bright fringe is

ol ot HOE (HArKoE®, ol HyBihah K& Kol wED Hxdinad B¢ Erdo
0.3 mm, won® Sold Hndhad $E Kol DES EpdiY B§ Erdo

Options :

0.51 mm
], ®

0.39 mm
2. %

0.45 mm

3. ®

0.48 mm

4. %

Question Number : 104 Question Id : 6404119864 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A sphere of radius R and charge 'Q' 1s placed inside an imaginary sphere of
radius 2R such that the centres of two spheres coincide. The electric flux linked

with the imaginary sphere 1s

Options :
a0
£

1. ® ¢
=K
€0

2. %
L+
€0

3.¢
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Question Number : 105 Question Id : 6404119865 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the charge on a capacitor of capacitance 15 pF 1s 300 uC, then the energy
stored 1 the capacitor 1s

56° Qer oG 48

@
E ¥
(08
ol
&
2)19
%
on
red
(3
g{)
0O
w
=
=
A
;
2
@
(1]
4
e
&
O

15 uF 22285, 8

o

Options :

3ml
1.+

OmlJ

6 mJ

3. %

12 mJ

Question Number : 106 Question Id : 6404119866 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

A bulb 1s connected 1n series with a capacitor to an ac supply. If the capacitance
of the capacitor increases, then power of light emitted by the bulb

2.4 me) (3BE® 2% Bardwb o= ac HBHT Eendndih. Sarded SR8 2ONE,

2oy arrbod 5208 FHY o
{ =

Options :
decreases
&%

1. ® 0

mcreases

) o Fale o] vve



does not change
oilela®

3. ®

becomes zero

L% m@@m@

Question Number : 107 Question Id : 6404119867 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

[f the Wheatstone bridge shown in the figure is balanced. then the value of R 1s

$008° Srdndd HUHS (DG Sodhovos® wol, R Qend

Options :

50 Q

1. %

200 Q

2. %

300

3. %

100 €2
4.

Question Number : 108 Question Id : 6404119868 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0



In the given circuit, if the current through 4 Q resistor is zero. then the value of
the resistance R is

*aﬁu&é Sechos® 4 Q 8850 o 6'366:55 (Berero Do), wond Q8%%0 R Dendd

1Q2
ANV =
1Q
4€) )
i R
1 5%, e
|| (1
1! -
Y 3V
Options :
1Q
1. ®
2. 8
2.
3 £l
3. %
4 Q
4, %

Question Number : 109 Question Id : 6404119869 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

When an electron accelerated from rest through a potential difference V, enters
a uniform magnetic tield, the maximum force on it 1s F. If the potential difference
1s changed to V,, then the maximum force on the electron in the same magnetic

\J.-"

field 1s 4F, then Vl =
3

EJ%_\-@?Q}E ood V, r8Qchd Fo S Eﬁs?‘ 8o Jobd ¥ @;:5, o¥ H%ée
©chTod GEos’ (338008, =l 18 2wo F. FBYHS Fo=Q) V, % 5r8)8piss
\;‘T

5 —= - = -
O3 vdharod Z|Eod” DOFTOP 85 meo 4F wowd, =
G &= e G \2



Options :

I:4
1. %

4:1
2. 8

2 =k
3. %

1:16
4.

Question Number : 110 Question Id : 6404119870 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the radius of a circular coil 1s doubled and the number of turns 1s halved. then
the magnetic field at the centre of the coil for the same current 1s

A

-
2

53 s peeate &5 zﬁ,-e.:; ﬂ"%mﬁaa%oaﬁ; 3%, He Sogro Sredd e‘.iﬁo e@ﬁiﬁ:@;é’n ©D
EDCS:&ERD (BSEPoBEDS, @ éﬁﬁo% Solo 58§ edhamod Fgo

Options :
becomes doubled
W
- B%o% @M.
becomes one fourth
5 v T Hod ©rb.

becomes quadrupled
Teenih Bép ©rvd.

3. ®

remains unchanged
S8,

4. %

Question Number : 111 Question Id : 6404119871 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0



If the earth's magnetic field at a certain place has a horizontal component of
5 gauss and a total field of 13 gauss. then the angle of dip at that place 1s

£ (BBoE® g echod Srod8 wo¥o 5 gauss H8cin Jwdo FBo

13 gauss wond, © $BE50 S

1
&

[

wiarsd Smo

ofx

Options :

tan ! | D]
l

-.\

tan [ % J

2. % \

3.¥

Question Number : 112 Question Id : 6404119872 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The current in a coil decreases from 5 A to zero in a time of 0.1 s. If an average
emf of 200 V is induced. then the self inductance of the coil is

2.8 @ﬁ&méﬁm DS (Hariro 0.1s sce06° 5 A Hod Aot S0 (368 Hifen emf
200 V oond, & éﬁzﬁjﬁég Xoho [ﬁjééé&p
Options :

20H

1. ®

4 H

2H

40 H



Question Number : 113 Question Id : 6404119873 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If an electric bulb 1s rated at 50 W for a 220 V ac supply. then the resistance of
the bulb and the peak voltage of the ac source are respectively

220 V ac S850% 2.8 D&E wen) 38ch 50 W soxns, e D5tS0 Hddm
ac a8 38 ?@_ﬁw SBIr

Options :

968 Q. 2202 V
1. ¢

484 Q. 220V

2. %

968 2, 220V

3. ®

484 0, 2202 V

4, %

Question Number : 114 Question Id : 6404119874 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

To dissociate a molecule into its component atoms, the energy required i1s
13.2 eV. The frequency of the electromagnetic radiation corresponding to this

energy lies in
o8 @mdd ol D& H8Srmdenre E}cﬁﬁ“egé.}fa S0 €8 13.2 eV, YOND 88
B0208088 3365:5663:%305 DS ﬁ“’?ﬁi@é&o B0t [Frodo
Options :
infrared region
Soedoes (@rodo
1. %
visible region

. &)@ (oo
2.



microwave region
DEESS0K (Frodo

ultraviolet region

. wddodiirg [Frodo
4.9

Question Number : 115 Question Id : 6404119875 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a particle of mass 6 x 1073? kg 1s moving with a speed of 5.5 x 10° m s71, then
the de Broglie wavelength of the particle 1s

(Planck's constant = 6.6 x 10734 J s)

6 x 103%kg (B8 LN 2.8 Eevo 5.5 x 10° ms™ $88° LoenihoR), © Xwo SnZ)
& [rd® 88origd o

(08 doo¥o = 6.6 * 1024 15)
Options :
200 A

1. ®

02 A

2. %

2A

3.¢

20A

4. %

Question Number : 116 Question Id : 6404119876 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In hydrogen atom, if an electron makes a transition from fourth orbit to second
orbit, then the wavelength of the emitted radiation 1s
(R = Rydberg constant)

(658 S80St o ae.;l':m% T2 B 5 %00 Bokd BE 1% Do(Eoreo BobRipd
JenSaR HESe éeﬁoﬁéggo
(R=28825 Joroko)

Options :



v 3R
8,
3R

2. %

3
16R

3. %

3
8R

4. %

Question Number : 117 Question Id : 6404119877 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the mean life of a radioactive substance is 12 minutes. then the time (in minutes)
2
. . ue €" =l
at which the fraction of atoms disintegrated becomes —=— 1s
o2

ok B’&&:nwaéﬁ érﬁgo 03:::5& S5t 298 oo 12 Dodrer wond, Divvodo Todd

i

=]

S8Srrge oo — e B oo (Dared®)
o2

Options :

36

1. ®

Question Number : 118 Question Id : 6404119878 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



In a transistor, if the emitter and collector currents are respectively 2 mA and
1.95 mA. then the base current 1s

2.8 (&R @5@5 emddo B 2%8de QEnS (Harifer $HIT 2 MA HBck

1.95 mA woni, egro DExS (Hariro

Options :
v Y0 pA

0.05 pA

2.8

50 mA

5 mA
4, %

Question Number : 119 Question Id : 6404119879 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

To get an output value 1 from the given circuit, the mput values of A. B and C
are

55“:3&&6 Sodhod® utﬁ?.s., Dend 1 =508 A, B 5580 C o 934 Denden

A
B
B
Ce
Options :
1 ¢
1.
0,0,1
2. %
1,0,1

3.¢



1,0,0

4, %

Question Number : 120 Question Id : 6404119880 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the maximum amplitude of a modulated wave 1s three times 1ts munimum
amplitude, then the modulation index of the wave 1s

Options :
|« 055
.q
L x 028
3
e 0.7
0.5
4.9
Chemistry
Section Id : 640411217
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411217
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6404119881 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ratio of wavelengths of first line (n, = 3) and second line (n, = 4) of Balmer
series of hydrogen spectrum is
B S $85008%) arinb 3HSS Zwdd (n, = 3) Hbctw Bodd (n, = 4) Sye

SBongoe so DG
e— o1 O

Options :



Question Number : 122 Question Id : 6404119882 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the incorrect statement from the following
B0 TBED KA aﬂésgéeé: &cﬁj&gﬁo&
Options :
For H-atom. order of energy of orbitals is 3s < 3p < 3d
- H-585rmi of)érd) 8 Eido 3s <3p <3d
The number of radial nodes for 4f-orbital is zero

- = £ = £
4f-ob)trds D&ahd FBe DHogy X,

2. %
The number of angular nodes for 4d-orbital 1s 2
4d-sbtrds gfdah SEe Koy 2
The wave character of the electron i1s not considered in Bohr model of H-
atom
&Iﬁ:|5£5 SBon Dggeari)) &5 H-58%mem Sdrae H0K0st8 0885
4. . o)

Question Number : 123 Question Id : 6404119883 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following

(Bof o7& essihiin

List-I (element) List-II (atomic radius in pm)
wHoe-1 (frodo) i -I1 (8Sre Fggo pm odd)
A) A I) 64

B)F Im) 117

C)N IIT) 143

D) Si IV) 74

The correct answer 1s
288 JRPGRR0
Options :

A-IIL, B-1, C-IV, D-II
1. ¢

) % A-III. B-IV., C-II, D-1

A-I B-III. C-II. D-IV
3. %

A-L B-IV, C-III. D-II

4. %

Question Number : 124 Question Id : 6404119884 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A diatomic molecule has a dipole moment of 4 x 1073% Cm. Ifthe bond distance
is 1.0 A, what fraction of an electronic charge exists on each atom ?

(Actual value of electronic charge =1.6x 107 C)
2.8 Bdsrms wmd) By [grdgo 4x1073% Cm. 2055750 1.0 A eond H8
S50 GG o8 wnd geifo dod ? (o8 wado dnE) e Dend

=16x10" C)
Options :
0.33

1. %

L x 0.50

Lo 025

0.66

4, %



Question Number : 125 Question Id : 6404119885 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

A molecule 'X' has square pyramidal geometry. as per VSEPR theory. The number
of bond pairs and lone pairs of electrons present in the valence shell of central
atom of X. respectively. are

VSEPR EJCS{?OP“_;O Eisrdo X' o e oms) SHBE Sroxsed aaéi;él&ﬁ]- BD &otnob.
X $080 Solf§ HB5Te0s) JBT) rons® &) 2208 aobien B 2,088 ¥ JoFrae
Roggen HBXe

Options :

l.wil'..]

_h
=]

3. %

6.1

4. %

Question Number : 126 Question Id : 6404119886 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

At 27 °C, rms velocity of SO, is x ms~! and most probable velocity of O, at
127°C sy ms '. The value of x VIS

27 °C $& SO, tms o x ms™! 5HBas» 127 °C 55 O, K63, Sogrigs ko y ms™.
Xy Sendd
Options :
L 34
,ox 4:3
-9
. x 3al

Question Number : 127 Question Id : 6404119887 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



At same pressure. the volume occupied by 5.6 g of gas "A" at 610 K is same as
1gof H,at243.9K. What is the molar mass (in g 11101_1) of "A"?

(Assume that gas "A" and H, are ideal gases) (H, = 2u)

610K &8, 5.6 go "A" srcing s(ESno HdHbirnesn, o8 Hsdsn 58, 243.9K
58, 1g I—I_‘Z SEHOD HSHBSErerD8 Hiidsm. "A" o) Srerb (555508

(g mol ! &%) Do5? (@rcimsy "A" 0B H2 ) i‘;"]fﬁi% Aol Ehhin)
(H,=2u)

Options :

60

4.%

Question Number : 128 Question Id : 6404119888 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In acidic medium MnO, oxidises NO; to NO3. How many moles of NO, are
oxidised by 10 moles of MnO, ?
wiy oirdgod® MnOy. NO; & NOjJ r* «§56omi. 10 arde MnOj a8

drde NO; & =8 EBohi ?
Options :
L= 20

2. %

[
h

3.¢

4.% -

Question Number : 129 Question Id : 6404119889 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0



Identify the correct statements
HB@DH agmgei HBoHEw. (only = &)

I) Enthalpy is an intensive property
Qoqsﬁéjﬁj; 2.8 HImH cﬁiﬁéén

II) For, H,O(/)——>H,0(g) process. AS increases

H,0(/)——H,0(2) Hachs AS 8o

IITI) Entropy is a state function
Dot 2. ?geﬁ’é ESEslerato!
Options :
I 1, I

1. ®

) % L. IT only

. I. IT only

L II. IIT only

Question Number : 130 Question Id : 6404119890 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The enthalpy of formation of CO,(g) and H,O(/) are —393.5 and —-286 kJ
mol ™ respectively. If the heat of combustion of CH;OH(/) 1s—-749KkJ mol ™, the
enthalpy of formation of CH;OH(/) (in kJ mol™) is
CO,(g) s0bcsn H,0() o Lok 530@**53;@3 Htdre —393.5 $obasn —286 kI
mol L. CH3;0H(/) @»¥), &% Qoged) —749 kI mol ! wonds® CH30H(/) Hodsies
530@052; (kJ mol ™! o6b)

Options :
% 12165
, ¢ —216.5

b
L
A
N



+
&%}
Lh
n
n

4.%

Question Number : 131 Question Id : 6404119891 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

- . : - S s BRTR et
At25°C. K_ofacetic acid 1s 1.8 <107 ~. What is the percentage of 1onization of
0.02 M acetic acid at this temperature ?

= -5 VY oA E
25 °C 8§, oo@5 eipo K = 1.8x107". =8 &&frs 58 0.02 M 2288 esio
wchdEse &0 Jod ?

Options :

3
1.¢

, % 4242

L x 1414

Question Number : 132 Question Id : 6404119892 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following is an example of physical equilibrium ?

Bob BS® DB T HorLd8 Srredn. (2= a7 1= (5 s = )

Options :

N,04(g) = 2NO;(g)

N,(g)+3H;,(g) = 2NH;(g)
2. %

CaCO3(s) = CaO(s) + CO, (g)
%

H,0(/) = H,0(g)

Question Number : 133 Question Id : 6404119893 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



In which of the following reactions of H,0,. dioxygen is evolved ?
8o& H,0, @»§) o 553*‘&;“5‘3 Bedes Hde ek ? (only = S#Eh)
I) With HOC/ 1n acidic medium

= cirdges® HOCT &
II) With permanganate in acidic medium

o5 aridEod® é-m@oﬁﬁﬁ&ﬁ
IIT) With permanganate in basic medium

58 irisEod ;’Jcrcéoﬁﬁﬁéﬁ

Options :
[ & II only

LII&III
2.

IT & III only

4 % I & III only

Question Number : 134 Question Id : 6404119894 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Ammonium chloride on reaction with calcium hydroxide gives a gas X. The
incorrect statement about X 1s

©A&ho EBE, 5§ o TERES S%Pob X el araosiid sk, X H donogod

Y - T
bR wéﬂg_@

Options :
X 1s ammonia
X s &a&'ﬂ@?&(ﬁﬁﬂ

Shape of X 1s trigonal pyramidal
X ang) =88 |58%es SV elel
[-X

X 1s an electron rich hydride

X @556 @@[5;5@ whiorr Ko TEEE

Hybridisation of central atom in X 1s spz

LY X %050 Boli H8srews) HossEseo !~:~p2



Question Number : 135 Question Id : 6404119895 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which of the following reaction B 103 15 not formed ?
Bod & 35;6* B,0; agsen ?

Options :

Acidifying an aqueous solution of Na,B 0,

Nan CL. ao|TESeRy, -J_.J_-.:C oo,

1. v

Heating of Boron in air

5 % Foend mhe® A83ahto

Burming of B H in oXygen

B,H, & =8 ‘,_r,.r’:_“‘ soofioditio
3. °

On heating H BD above 370 K

H:BD Ea Y] 3?0 K Zod] -u\.-\_'\.! -\.IJ u\.Q.aslﬂi 3] E‘Ecﬁ"jcﬁ,(ﬁj
4.%

Question Number : 136 Question Id : 6404119896 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

With which of the following molecule(s) silica has no reaction ?
806 & wd(©)s® HO=K $85 S0t ?

I) Chlorine II) Hydrogen
%—EE]E __g l_ﬁhﬁm
I1T) Hydrogen fluoride IV) Sodium hydroxide
B =S 5586 PEBcho TrREE6
Options :
| I & IIT only
III only
2. %
[ & II only
3. ¢
IT & IV only
4. %

Question Number : 137 Question Id : 6404119897 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



How many of the following are responsible for acid rain ?
(BoB B R)) eEHEo’ steso ?
NO. §O,. NO,. CO.N,0. N,

Options :

Question Number : 138 Question Id : 6404119898 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Lassaigne's test. when both nitrogen and sulphur are present in an organic
compound. a blood-red colour is observed upon adding FeC/; to the sodium
fusion extract. This colour 1s due to the formation of X. Whatis X ?

2.8 BGI ‘é?l}é?’éoéﬁ @1&?‘5&5 FE)E_:;E&:J Botre &P, PR ééé@ﬁ FeCl3 O 2f&aho
Qees [@esesR8 DK 8580 ad)théod. & Bord X athito Hod Senrbiéod.
Xab ?

Options :
NaSCN

[Fe(SCN)IF*
2.

[Fe(CN)sNOST*

3. %

[Fe(SCN), J**

4 %

Question Number : 139 Question Id : 6404119899 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



What are X and Y respectively. in the following set of reactions ?
(Bots as@dd St 0888 X H8ain Y en %5 & ?
(CH3C00),Mn

CHSCH3+303 > X

KMnOy4/H™

CH;CH = CHCH; >Y

Options :
CH3;COOH.CH;CH(OH)CH(OH)CH;

1. ®

CH;CH,OH.CH;CHO
2. %

_ CH3CHO.CH3COO0H

, » CH3COOH.CH;COOH

Question Number : 140 Question Id : 6404119900 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The crystal system of a compound with cell dimensions a=0.387.b=0.387,
¢=0.504nm: o =p=90° and v =120 is
eSS Soden a=0.387.b=0.387. ¢=0.504nm; a=p=90° 65w

¥ =4 02 by oo Ko a8 éﬁ:@ B0 cT:i:oéé

B8 335
a4
Options :
cubic

1, % 300

rhombohedral

$EPoss Henedd
2. %

orthorhombic

hexagonal

4 v RERcH

Question Number : 141 Question Id : 6404119901 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes



Correct Marks : 1 Wrong Marks : 0

At T(K) vapour pressure of pure benzene and toluene are 500 and 200 mm Hg
respectively. If they form an ideal solution. what is the mole fraction of toluene
in a mixture boiling at T(K) at a total pressure of 380 mm Hg ?

T(K) 58 %y BodS Fbain &°DSe ”“c.,té aren %dmre 500 Héchy 200 mm He.
B8 BBy [POeRY  GBDT hidos, T(K) ol £o80 oo Fndo Hikdo 380 mm
Hg e &&)55p DS FoeeS grifo Dok ?

Options :

1. = 0.20

, % 0.60

, o 040

L 0.80

Question Number : 142 Question Id : 6404119902 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

0.25 moles of CH ,FCOOH was dissolved in 0.5 kg of water. The depression in
freezing point of 1esultan‘[ solution was observed as 1 °C. What is the van't Hoff
factor ? (K;=1.86 Kkg mol ™)

0.25 3o CH,FCOOH 8 0.5 kg ¢ 8&&° 2BRomrh. D88 (o) wdyfss
%26 Q&g 1°Cre $BEDoTH. ToTHED ko Jod ?

(K =1.86 K kg mol™)

Options :

0.93

1. ®

1.07
2.

Question Number : 143 Question Id : 6404119903 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0



At 298 K the emf of the cell given below 1s 0.87 V.

Pt.H,(1atm) |H' (aq) | Ag” (1 M) | Ag(s)
The pH of the acid solution 1s

Given : E° —=0.80V:E° =00V
(Given 2 T, )

298 K &8 (8ot asrndd soeod emf densd 0.87 V.

¥ L
L=

Pt.H,(latm)| H (aq)||Ag™ (1 M) | Ag(s)
o [oedwo @w¥) pH (s =08, aq =)

(%8 :E° | =080V;E° . =0.0V)
Ag |Ag 2H"H,

Options :

2.18

1.18
3.

1.09

Question Number : 144 Question Id : 6404119904 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The decomposition of AB 3‘{g) is a zero order reaction. At 300 K. the rate constant

of the reaction 1s 2.5 ><10_Jr mol L_l 5_1

. What is the rate of reaction (in mol

i S_l]l when concentration UFABg(g} is taken as 107  mol L™ at 300 K ?
ABE(g) DDrHBN a8 Jooy (Edrof H8; 300 K Eét‘,g, xﬁfﬁé:f:é,:o %Oﬂoéeﬁx

2.5x10 " mol L' s\, AB,(g) mga® 107 mol Ll v &:5ofiiyiothy 8 Bew

(mol L™ s7! o) 300 K & aoss ?

Options :
-5
= 5
% 2:5x10

2.5x10~%
R



Question Number : 145 Question Id : 6404119905 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of negatively charged sol ?
g@-ﬁ _“D"fJﬁqﬁ OJ&' Ei'{,n- o34 wred Eé.; a8 aorirtes 7 !

Options :
TiO,

AF;O_; ..TH_)O

;515';55
3.¥ =

methylene blue

4% $HOIJ axr

Question Number : 146 Question Id : 6404119906 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
At T(K). adsorption of a gas on surface of a solid follows Freundlich adsorption

v A

' — | (on y-axis) and log p (on x-axis) for this gas gave
f'l

a straight line with slope = 2 and intercept = 1.5. What is the value of n ?
T(K) 8, 2.8 05 69880502 @68 %m0 Foth e [gronods «5e8ies ‘{Eﬂfﬁapm

1sotherm.

sPB08. & arcnHH 102

= \ (y-080p) H8cin log p (x-050%) © ™5, aven =2
W,

08050 wodmoddsn = 1.5 Ko H8E0enH a)0b. N Dend oJod ?

Options :

w20



0.666

Question Number : 147 Question Id : 6404119907 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the extraction of which of the following metals, the ore is concentrated by
leaching process ?
(Bots m@a8 o &058e ?3-;’3;50:@@7{', plerf)) Vgt HES oo Fro|HEBTE ?

[ ]
(only = Hr(eh)

I)Ag II) Au
III) Zn IV) Al
Options :
I & III only
1. %
II & III only
III & IV only
3. %
I IT & IV only
4.

Question Number : 148 Question Id : 6404119908 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The reactions which give XeO 5 as one of the products are
XeO3 D a8 |BoSresigore 5% Sd5en (only = &x(E5h)

I) complete hydrolysis of XeF,
XefF, ang) 578 ST

IT) complete hydrolysis of XeF,
XefF , ang) 5778 modBes

IIT) complete hydrolysis of XeF
XeF @ng) 28 moddies

Options :

I & II only

IT & III only
2.



I & III only

3. %

LII. III

4.%

Question Number : 149 Question Id : 6404119909 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following
BoB B asHHHs5w

List-I (complex) List-II (hybridisation)
wlze-1 (Soge) srflae-II (Jo88E8w0)
A) [COPG]S_ I) d!sp2

B) [NiCl4]*~ IT) d*sp*

C) [Ni(CN) 41+ 1) sp*

D) [Co(NH3)g > IV) sp°d?

The correct answer 1s
0B [rgrRo
Options :
. A-IV. B-I. C-III. D-II
1.

o AL B-L C-IL D-IV

A-IV, B-1II. C-1. D-1I
3.

A-II. B-III, C-I. D-IV
4. %

Question Number : 150 Question Id : 6404119910 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In 3d series. a metal 'X' has highest second 1onisation enthalpy. The spin only
. = S "
magnetic moment (in BM) of X ion is

3d B8P, a8 S0 X' e AL BfBch o@NIBNLS aocpﬁ_};r > 8D &b X oSSt
[&ishes ©GrbE @dbd=od |griddo Dend (BM e&P)
Options :

% 173



0.0
2.¢

Question Number : 151 Question Id : 6404119911 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Match the following
Eob 7ED et

List-I (Monomer) List-II (Polvmer)
whae-1 (3r3F5:6) fee-11 (Z2D505)
COOH
o OH @ s
A) HO COOH I) Perlan-L (3oeS-L)
CO-H
B) OH . /O/ IT) Buna-N (eng-N)
HO- HOOC

C) A . A NN I1T) Terylene (8665)

o "
D) fi\/ IV) Neoprene (ai=2S)

V) Glyptal (3szs)
Correct answer 1s
BOGHH BEPEHED
Options :

- A-V, B-1. C-II, D-IV

A-V, B-III. C-II. D-IV
2.¢

s % A-IIL B-V, C-IV. D-II

A-I. B-III. C-IV, D-II
4. %



Question Number : 152 Question Id : 6404119912 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Glucose on reaction with HCN forms a compound 'A'. Acid hydrolysis of A
gives B. The molecular formula of B is
&€ HCN & S leiilela a’:?rbéﬁééo 'A' 0 =008, Asih s 938mos® B & akhob.
B @n¥) ezaﬁmé;@@

Options :

Cet1407

C7H;406
3. %

L w C7H;,05

Question Number : 153 Question Id : 6404119913 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The pyrimidine bases found in RNA are
RNA &° &) HOMAES groren
Options :
Thymine & Uracil
B80S & oS

Thymine & Cytosine

305 & DS

Adenine & Guanine

= = e
QJ&E&J & i""?*EQN

Uracil & Cytosine

oS & 605

iy

Question Number : 154 Question Id : 6404119914 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Which of the following is a synthetic progesterone ?
Bob BS° Db g8 @*2goes ?

Options :

Norethindrone

L 0BSES

Novestrol

o 8=
o aif‘u' o

2. ® e

Estradiol

JRETrS
3.8 %

Testosterone

L BPHEES

Question Number : 155 Question Id : 6404119915 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The Sy1 reactivity of the following halides will be in the order

(Bob 3%8% Syl ém@%mé [Bsho

I) C¢HsCH,Br II) (C¢Hs), CHBr
1) (C4Hs),C(CH;3)Br IV) (CH;),CHBr
Options :
m>0>1>1V
1. ¢

N>I1>I>1IV
2.8

IV>I>1I>1II

Lo I>T>1>1V

Question Number : 156 Question Id : 6404119916 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following halogen containing compounds
HefaS 50 &) (Bob .-dw:g%’a?@aﬁ) 2BNBoTHED.

I) CHC/;
1) CCly
III) CH;F

IV
; C/

The compounds with a net dipele moment are
HOS s grddo He r:uo.ojé (only = &m(g5h)
Options :
L. IV. only

1. ®

II. I1L. IV only

2. %

L. IIT and IV only
3. ¢

ITI. TV and V only

4. %

Question Number : 157 Question Id : 6404119917 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What are X and Y respectively in the followiug reaction sequence ?

Bob ﬁD“ﬂLéESJoé'a X 508a5m Y en S%He oD

(conc. = ref) (major product = Fred & &0)
COOH
cmlc.JE-INDS h, X (i) BoHg
conc.H,SO4 (major product)

(ii) H30™

Options :



COOH CH,OH

7
N0, NO,
1V
COOH CH,OH
g
e " NH,
2. ® B

COOH CH,OH

ke

COOH CH,OH

Q9

3 NO,

Question Number : 158 Question Id : 6404119918 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following
Bod &R asHtHsn

List-I (compound) List-II (common name)
-1 ($3Hke) =hz-11 (el o)

A) HOODH I) Catechol (Ee:8°5)
B) QO—CH: —CHj3; IT) Cumene (5808

OH )
C) IIT) Phenetole (5:2¢5°)

OH

D) QCH(CH;); IV) Quinol (&°S)

The correct answer 1s
20 Sdrgrdo

Options :

L A-TV. B-III. C-1. D-IT

A-IV, B-1, C-II, D-1II
2. %

A-III. B-1. C-IV, D-II

3. % 7

A-II. B-III. C-IV, D-I
4, %

Question Number : 159 Question Id : 6404119919 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Sequence of reagents required to convert m-bromoaniline to benzoic acid 1s
m-E3r 20H5H Bosfont eorr Sre0d sedenhd stsre [Eio
(dry ether = sr& £2256)

Options :

NaNO, |HC(.273 - 278 K: CH;CH,OH: KCN: H;0™"
1. %

NaNO, |HC/,273 - 278 K: CH3CH,OH: Mg | dry ether: CO, | dry ether: H;0™
2.¢¥



NaNO, |HC£.298 K: CuCN. H;O"

3. %

. NaNO, | HC(.273 K: HyO: KON, H30™

Question Number : 160 Question Id : 6404119920 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following has the lowest pK, value ?
Bob rBS° B8 808 PKy Dendd sotnob ?

Options :

. CH3—NH,
., (CHCH, ) NH
= ‘ NH,

2
3. %8



